Diviser Fractions (A)

Nom:

1. 1%+%
2 %+3§
3 §+2%
4 %+3—
5 g+1§
6 %+2%
7 gvl—
8 §+1—
9 §+3—
10. %+3—

Date:

Note:

Calculez chaque quotient.

Conversion T

= X =

Inversion

= X =

Résultat

Simplifier =~ Conversion |
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Diviser Fractions (A) Réponses

Nom: Date: Note:

Calculez chaque quotient.

L7 _ 3.7 _ 3. 8 _ 24 _ 12 >
278 278 277 14 7 T
213_—1_§—lxl—L—i
7 77 T 7722 7 154 T 22
3%;2_—§_E—§Xl—2—l
5° 5" 7 5715 75 = 25
L2.gl 2. 19 2 6 12

5° 56 5719 95

o 1.2 _ 7.0 _17.,3_ 24 _7
9 93 " 975 " 45 ~ 15
61'2—1'5—1X2—2—1
2 - 2°2 275 7 10 5
7Z_1_—Z_E—ZX§—£—1
9 93 7 974 36 12
o 2.l _ 2.3 _2.2_ 4

3 372 7 373 79

o 3.2 _3.17_3, 0 _ 1L _3
5° 55 5717 8 17
2 276 2719 38 19
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